Manuals+ — User Manuals Simplified.

ICStation HU-017ASW 87-108MHz FM Radio DIY Kit Instruction
Manual

Home » Icstation » ICStation HU-017ASW 87-108MHz FM Radio DIY Kit Instruction Manual ™

Contents
1 ICStation HU-017ASW 87-108MHz FM Radio DIY
Kit
2 Product Information
3 Product Usage Instructions
4 Introduction
5 Parameter
6 Component Listing
7 Installation Tips
8 Installation Steps(Please be patient)
9 Documents / Resources
9.1 References
10 Related Posts

IGSTATION

ICStation HU-017ASW 87-108MHz FM Radio DIY Kit


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/icstation
https://manuals.plus/icstation/hu-017asw-87-108mhz-fm-radio-diy-kit-manual.pdf

Product Information

The ICStation RDA5807 87-108MHz FM Radio DIY Kit (HU-017ASW) is a wireless FM radio receiver kit with a
4bit digital tube. It operates in the 87.0MHz-108.0MHz global FM receiving frequency band, making it suitable for
use in any country or region. The kit provides two power supply modes, allowing users to use it at home or
outdoors. It is a DIY electronic product that helps users understand circuits and improve soldering skills.

Features

1. 87.0MHz-108.0MHz FM Radio: Built-in RDA5807 FM data processor with a standard FM receiving frequency
band. The FM frequency can be adjusted using the F+ and F- buttons.

2. Adjustable Volume: Two volume adjustment methods — button and potentiometer. There are 15 volume
levels.

3. Active & Passive Audio Output: The kit has a built-in 0.5W power amplifier to drive 8ohm speakers directly. It
also outputs audio signals to headsets or loudspeakers with AUX interfaces, allowing personal listening and
sharing of FM audio.

4. Configured with a 25cm dedicated FM antenna and a 4-bit red digital tube for real-time display of FM radio
frequency. The transparent acrylic shell protects the internal circuit board. It supports dual power supply
methods — 5V USB and 3V battery.

5. DIY Hand Soldering: The kit comes with various components that need to be installed manually. It helps
exercise and improve soldering skills, making it suitable for electronics hobbyists, beginners, and educational

purposes.

Parameters:



Product Name HU-017ASW RDA5807 87-108MHz FM Radio DIY Kit
Work Voltage DC 3V/5V
Output Impedance 8ohm
Output Power 0.5W
Output Channel Mono
Receiver Frequency 87.0MHz~108.0MHz
Frequency Accuracy 0.1MHz
Work Temperature -40°C to 85°C
Work Humidity 5% to 95% RH
Size (Installed) 107mm x 70mm x 23mm

Product Usage Instructions

« Switching ON/OFF: Toggle the switch to turn ON/OFF the power supply.

« Volume Adjustment: Press the V+ or V- buttons to adjust the volume. There are 15 volume levels.
Continuously adjust the volume while holding down the button.

« Receive Frequency Adjustment: Press the F+ or F- buttons to adjust the receive frequency or FM station.
Continuously adjust the frequency while holding down the button.

« Volume Adjustment using Potentiometer: Use a screwdriver to adjust the volume using the potentiometer.

Component Listing:



NO. Component Name Parameter QTyY
1 RDA5807M FM Receiver SMD DIP-28 1
2 STC15W404AS MCU DIP-28 1
3 IC Socket DIP-28 1
4 74HC595D Register SOP-16 1
5 TDA2822M Amplifier DIP-8 1
6 IC Socket DIP-8 1
7 AMS1117-3.3V Voltage Converter SOT-223 1
8 Metal Film Resistor R2-R5, R16 10Kohm
9 Metal Film Resistor R6, R17-R20 1Kohm
10 Metal Film Resistor R7-R14 510ohm
11 Potentiometer R1 200Kohm
12 Ceramic Capacitor C1, C2, C6, C9 0.1uF 104
13 Electrolytic Capacitor C3 1uF 50V
14 Electrolytic Capacitor C4,C5,(C7,C8 100uF 16V
15 S8550 Transistor Q1-Q4 TO-92
16 Red LED D1 3mm
17 4Bit Digital Tube u7 Red
18 Toggle Switch P5 1
19 SMD Micro USB Socket DC 2Pin 1
20 Radio Antenna ué 7.5cm-25¢cm
21 AUX Audio Socket U4 3.5mm

HU-017ASW RDA5807 87-108MHz FM Radio DIY Kit

Introduction

« HU-017ASW is an RDA5807 87.0MHz-108.0MHz Wireless FM Radio Receiver DIY Kit with 4bit digital tube. It
uses the 87-108MHz global FM receiving frequency band, which can meet the FM needs of users around the
world. It provides two power supply modes for users to use at home or outdoors.

« ltis a very interesting DIY electronic product which enables users to understand the circuit more clearly and

learn soldering skills.

Feature:

1. 87.0MHz-108.0MHz FM Radio: Built in RDA5807 FM data processor with standard FM receiving frequency

band, applicable to any country and region in the world. Adjustable FM frequency by press F+ and F- buttons.



—_

2. Adjustable Volume: It provides two volume adjustment methods: button and potentiometer. 15 volume levels.

3. Active & Passive Audio Output: It not only has built-in 0.5W power amplifier to directly drive 8ohm speakers,
but also outputs audio signal to the headset or loudspeaker with AUX interface. Realize personal listening and
sharing of FM audio.

4. Configure 25cm dedicated FM antenna and 4Bit red digital tube. Real time display of FM radio frequency.
Transparent acrylic shell protect the internal circuit board. Dual power supply methods: 5V USB and 3V battery.

5. DIY Hand Soldering. It's a DIY kit which comes with various components. User need to install each component
by hand. It not only can exercise and improve soldering skills, but also increase the interest in electronic

technology. Great for electronics hobbyists, beginners, school and home education.

Parameter

Product Name: HU-017ASW RDA5807 87-108MHz FM Radio DIY Kit
Work Voltage: DC 3V/5V

Output impedance:8ohm

Output power:0.5W

Output channel: Mono

Receiver Frequency: 87.0MHz~108.0MHz

Frequency accuracy: 0.1MHz

Work Temperature:-40°C~85°C

Work Humidity: 5%~95%RH

Size(Installed): 107*70*23mm

© © © N o o kM w0 D~

Use Methods

1. Switch Toggle Switch to turn ON/OFF work power supply.

2. Press V+ or V- to adjust volume. 15 volume levels. Continuously adjust the volume while holding down the
button.

3. Press F+ or F- to adjust receive frequency or FM station. Continuously adjust the frequency while holding down
the button.

4. Potentiometer: It is used to adjust volume by screwdriver.

Component Listing

NO. Component Name PCB Marker Parameter QTY
1 RDA5807M FM Receiver U1 SMD 1
2 STC15W404AS MCU U2 DIP-28 1
3 IC Socket u2 DIP-28 1
4 74HC595D Register us SOP-16 1
5 TDA2822M Amplifier U9 DIP-8 1
6 IC Socket U9 DIP-8 1




7 AMS1117-3.3V Voltage Converter u1o SOT-223

8 Metal Film Resistor R2-R5,R16 10Kohm

9 Metal Film Resistor R6,R17-R20 1Kohm

10 Metal Film Resistor R7-R14 510ohm

11 Potentiometer R1 200Kohm
12 Ceramic Capacitor €1,62,C6,C9 0.1uF 104
13 Electrolytic Capacitor C3 1uF 50V
14 Electrolytic Capacitor C4,C5,C7,C8 100uF 16V
15 S8550 Transistor Q1-Q4 TO-92

16 Red LED D1 3mm

17 4Bit Digital Tube u7z Red

18 Toggle Switch P5

19 SMD Micro USB Socket DC 2Pin

20 Radio Antenna ue 7.5cm-25¢cm
21 AUX Audio Socket U4 3.5mm

22 Black Button S1-S4 676*8mm
23 Button Cap S1-S4

24 0.5W 8ohm Speaker us D40mm

25 Red/Black Wire

26 Double-sided adhesive

27 AA*2 Battery Box

28 USB Power Wire

29 Acrylic Board

30 Nylon Column Screw M3*8+6mm
31 M3 Screw M3*5mm
32 M3 Nut

33 M2*22mm Screw

34 M2*6mm Screw

35 M2 Nut

36 PCB 95*58*1.6mm

Note: Users can complete the installation according to the PCB silk screen and component list.

Application:




—_

—_

Training welding skills
Student school

DIY production
Project Design
Electronic competition
Gift giving

Crafts collection
Home decoration
Souvenir collection

Graduation design

4O © o N o gk w2

Holiday gifts

Note:

It is a wireless module. So do not use it in an environment with signal interference.
There are three SMD components so that you can place it on PCB and then fix by tin.
It is not recommended to connect USB power supply and AA battery at the same time.

Every time the power is turned on, the radio station and volume need to be readjusted.

a > w0 Dp o~

The display screen will remain ON all the time after power ON.

Installation Tips

1. User needs to prepare the welding tool at first.
1. Soldering iron (<50 Watt)
2. Rosin core (“radio”) solder
3. Wire cutters
4. Wire strippers
5. Philips screwdriver
2. Please be patient until the installation is complete.
3. The package is DIY kit.It need finish install by user.
4. The soldering iron can’t touch the components for a long time(1.0 second), otherwise it will damage the
components.
Pay attention to the positive and negative of the components.
Strictly prohibit short circuit.
User must install the LED according to the specified rules.Otherwise some LED will not light.
Install complex components preferentially.
Make sure all components are in right direction and right place.

It is strongly recommended to read the installation manual before starting installation!!!

e © o N oo ou

Please wear anti-static gloves or anti-static wristbands when installing electronic components.
Installation Steps(Please be patient)

1. Step 1: Install 1pcs SMD components SOP-16 74HC595D Register FM Receiver at U3. There is a white gap

on PCB silk screen at U3 and there is a mark(dot) on IC. These two marks are corresponding to each other



and are used to specify the installation direction.

L 1§
[ &
L1l
"
ui=
i
ol

HU-017A
FM Faadln\vrqcl uz 2 @ W R R

]SRN
(L,

BEROLL-LAVITL 10D

3. Step 3: Fix 74HC595D:
1. Use a soldering iron to melt tin on the pad just now and hold IC with tweezers in the other hand to

place/press on U3 to prevent movement.
2. Take care to match and align each pins to pads.
3. Then remove soldering iron after align pins.
4. Then remove tweezers after solder tin cooling and solidification.



HU-017A
FM Radio_V4 0 A OO

J'HHHI

4. Step 4: Connect others pads on 74HC595D to pads on PCB by tin and soldering iron. Tips for one method:
1. Use a large amount of solder tin to cover all pads.
2. .Make sure all pins and pads are covered with tin.
3. Use a soldering iron to keep the tin in the melting state. At the same time, use a solder sucker or

desoldering braid to remove the excess solder.

HU-01TA
Fivi Ra'di.'a__‘v"'\_ﬁ - L B S S ]

2 =T NN
IHHHI

Lt

V§EFiAdi




HU-017A
Fhﬂ Ra‘j;U__V'".C' # LRGP B TRE

75 SN
ey SN

6. Step 6: Install 1pcs SMD RDA5807M FM Receiver at U1 by the same method.

Pay attention to the installation direction

HU-017A -
FMRadio_v4n [VF _®89&®e

2 [ZHE ST EY
2 Ul = = N

RN EeE S

BIRETP-QdV T 108

ﬁc; '/;?\ )




HU-D17A

FMRadio V40 |V 0000064
ol 2, SN
o | (DL

-
=
-
=
=
F.
=1
=
=
=

HU-017A
FM Radic_V4.0

inm »

oo

RO L~ldvLTL 109

@[1or]¢ CBo; =
oluler) RE@




HU-017A
FM Radio V4.0

20 Sa N
i ==
= |

A0 Q14R13R12011R1I029 RE A7 |

casiaTy

X AR AN

1114, H e

U3

SEROEE=laviELi0®

. Wd]& 0
Bo R4 S(IIEF)
REs (jiIl &

HU-017A
FM Radio V4.0

s N~
i )

RI& ELEB_|

11. Step 11: Install 1pcs DIP-28 IC Socket at U2.There is a gap mark on one end of the IC Socket and there is a

gap mark on PCB silk screen where the IC Socket can place on.These two marks are corresponding to each

other and are used to specify the installation direction of the IC Socket.




HU-017A

= Ra(ii:j_\,«'d,_g uz

% ] = H ” N
el ] 11 u u )

R

=07 B
DY F?*&IlmF*
b e atiuipe ©

12. Step 12: Install 1pcs DIP-8 IC Socket at U9.There is a gap mark on one end of the IC Socket and there is a

gap mark on PCB silk screen where the IC Socket can place on.These two marks are corresponding to each

other and are used to specify the installation direction of the IC Socket.

HU-D17A
FM Radio_V4.0

Uz
| L 3
F L |

wi B

ﬂuw- L\_.-_,-.I F'ulm»c =




HU-017A -
FMRadio V40 [1? _ 000000

!’H o

mmwmmumnnanaw
s
M2 =T x

I & 4 )

PN e T,
w AL
1
[
T

e o 9 o0

RIEANIN o=
ol s e |i’:i| leifioifis]

NS 41&&. Q-0 0-0 0-0 0-0

HU-017A
FM Radio_V4 0

HU-017A
M Radio V4.0

e Y
/= 4= V)

2 numam:nnman RS R7

cFeRErEE

1L LR E
Liua
TR
",J_ : F‘_ : F+
=0 O=0 O=0 O0-0

T Hﬂlml‘-' Iﬁ'

RE 4 T O—0Q O—0

16. Step 16: Install 1pcs Toggle Switch at P5.



HU-01TA = e

FMRadio-yé.0 42 29098009
672 &5 NN
Gl S0

17. Step 17: Install 4pcs 100uF 16V Electrolytic Capacitor at C4,C5,C7,C8. Pay attention to distinguish between

positive and negative.The Longer pin is positive pole.

HU-017A
FiM Radio V4.0 ! po

SN b7, = TN
=L T

1] ol e
iNdFEREf

Ve V-7 Fo

BB

18. Step 18: Install 1pcs TO-92 S8550 Transistor at Q1-Q4. Pay attention to the installation direction. The arc on

the PCB corresponds to the arc of the components.

arc-shaped




HU-01TA
Fh Radio V4.0

st O] 2 qiuq)- ~ 1%
*ﬂulll | B0 | Er?m{c :(ji ‘Qﬂ l

.._
2l
—

¥
i)

SLniy~
AILHM
Yrigl

HU-01T7A
FM Radio V4.0

|
im
(] ]
|
I'm
™
|m
I
I
1
|
1"
]
| 1m

20. Step 20: Install 1pcs 1uF 50V Electrolytic Capacitor at C3.Pay attention to distinguish between positive and
negative.The Longer pin is positive pole. Note: The capacitor needs to be placed horizontally, keep a distance

of 2mm between the capacitor and the PCB when installing.




HU-01T7A
FM Radio V4.0

Lz
Im mi
im [ 3]
1] i
[ 1]

I'm
|m
|
I
1]
| i
|

- | B
ey cl'_*u_l_lj__hc

HU-01TA

FM Radio V4.0

w
o
RN

SIS L__
22. Step 22: Install 4pcs 6*6*8mm Black Button at S1-S4. Ensure that the buttons are installed vertically to avoid

affecting the next installation of acrylic plates.




HU-017A
FM Radia_\V4.0

1w
S T
E |
T
]
1
T
" im
1
1.
-
k]

P ey P 'l | .-. &
ST n5.|41.|r o e

23. Step 23: Install 1pcs DIP-28 STC15W404AS MCU at U2.There is a gap mark on one end of the IC and there is
a gap mark on DIP-28 IC Socket where the IC can place on.These two marks are corresponding to each other

and are used to specify the installation direction of the IC.

HU-017A
FM Radio V4.0

24. Step 24: Install 1pcs DIP-8 TDA2822M Amplifier at U9.There is a gap mark on one end of the IC and there is a
gap mark on DIP-8 IC Socket where the IC can place on.These two marks are corresponding to each other and

are used to specify the installation direction of the IC.



HU-01TA
FM Radio_V4.0

s R R R R R R R R R N
. . .. .

26. Step 26: Connect 0.5W 8ohm Speaker to PCB.




ferpcdesinzy
PRESBFUEERERRAY

P opp

&80 06 e &

!

L]

&

27. Step 27: Fix FM Radio Antenna at U6 on PCB back by M2*6mm Screw and M2 Nut. Then use a large amount

of solder tin to cover the screw and nut to ensure that the antenna will not fall off during use.

covered by tin

AT YL

)

=

g b-.lﬂ 'y

LN

66 6Ad D
BAT_AA"2

23py

/"“b

srdesesteld

ESREBERRIID

L3

asen6es s ‘

e 66 co 0o ws 3

28. Step 28: Connect AA*2 battery box to PCB. Red wire to * + * pad.



AR AL

ARGnEN

N

BannnRd A
BAT_pacd

98N
e

LAREIRERNIRR
B gRepiorcerearels

aesa nnnv—r
@i en 00 a6 @

29. Step 29: Paste the speaker and battery box on the PCB back with double-sided adhesive tape, and pay
attention to the white line area on the PCB to define their positions.

30. Step 30: Fix 4pcs M3*8+6mm Nylon Column Screw on PCB by 4pcs M3 Nut.



32. Step 32: Fix Bottom Acrylic Board by 4pcs M3*5mm Screw.



33. Step 33: Place 4pcs Side Acrylic Board.

"

34. Step 34: Fix Top Acrylic Board by 4pcs M2*22mm Screw and 4pcs M2 Nut.

35. Step 35: Connect to power supply and enjoy the effect.



Documents / Resources

ICStation HU-017ASW 87-108MHz FM Radio DIY Kit [pdf] Instruction Manual
HU-017ASW 87-108MHz FM Radio DIY Kit, HU-017ASW, 87-108MHz FM Radio DIY Kit, FM R
adio DIY Kit, Radio DIY Kit, DIY Kit, Kit

References

» User Manual

Manuals+,


https://manuals.plus/m/16259dad879782d9fe7d35ec246fdae9d254d54daf98aef7c79b15c54f1e878a
https://manuals.plus/m/16259dad879782d9fe7d35ec246fdae9d254d54daf98aef7c79b15c54f1e878a_optim.pdf
https://manual.tools/?p=10255547#MTA0LjI4LjIwMi4xNzg7Ozs7
https://manuals.plus/

	ICStation HU-017ASW 87-108MHz FM Radio DIY Kit Instruction Manual
	ICStation HU-017ASW 87-108MHz FM Radio DIY Kit
	Product Information
	Product Usage Instructions
	Introduction
	Parameter
	Component Listing
	Installation Tips
	Installation Steps(Please be patient)
	Documents / Resources
	References



